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Jear> 2 (For All Sessions)

Chemistry (objectve)
Note: Write Answers to the Questions 0.t the objective answer sheet provided. Four possible answers A, B, C and D {o each question are given. Which
answer you consider cortect, fill the corre sponding circle A, B, C or ) given in front of each question with Marker or Pen ink on the answer sheet provided.
1.1 The PH of tomato is: (A} 12 (B) 42 (C} 72 D) 9.2

2. Forwhjch system does the eq.iilibrium constant K¢ has unit of (Concentration)™1?

(A)  Np+3H, = 2NHy (B)  Hp+h=2H (C)  ZNO,=N.

Time: 20 Minutes Marks : 17

(D) 2HF = H, + F,

(A) Ys (6) 5.1 (© Y54 ) 6
4. The oxidation number of chronium in K, Cr, 05 is:
(h) 4 (8) 2 6 (D) i 8

5. Stronger is the oxadizing agent greater is the:
{A) Oxidation potential ~ (B) Reduction

6. The unit of rate constant is the ;ame as that of e rate of reg
(A)  Firstorderreaction  {B)  Second.order reaction ZeX0 order reactivy D}/ hird ¥fder reaction

Redox poteniial

ntial  {C)

/LB’) E.M.Pof cell

#

7. The largest number of molecule s are prasent in}
1O H

(A) 3.6go0f HyO /\'\li]} 48 gof
i
8. One mole of SO, contains E
(A)  6.02 x 10233@4 iB) 18,1 % 10%3 (€
of oxygen /’_\ mo e* of SO,

9. The rate of filtration can be increassd by usmg N &
A) / Desicator (3) Suction ﬂa\st\ o old finger (D) Chromatographic tank

0. ich of the foliqwing will have the same no'sf mol
1.2 dqu

& (D) 4 grams atoms of S0,

) 44 gof CO,and (D) 280 g of N, and

32%of 0, 11.2 dm* of oxygen 5.6 dm?® of oxygen

1. Normal human

(A) (C) 3794 (D) 273K
12, Which of the following is Caly (B)  Glass (C) NaCl (D} NaOH
13.  Hydrogen bonding i i ( Hi (B) HBr © HCI (D) HF
14, The velocity of pr(m:

") lndw ngth its ) Depenc:: :; :5 wave (©) Equa!ai:;?::;r: of its 0) Dep:;zjdrsc :n its
15, Whichiai the following molecule have zero dipole moment;

(A) NH, (B CHCly (©) H.0 (D) BF,
16.  Calories is equal to: (A) 041840 (8 41.84 ) (C) 4,184 (D) 4184

17. Spontaneous reactions are: )
(A) Reversible (B Irreversible €) Mo irreversible (D} None of these
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Chemistry (Subjective)

.

vil,

X,

vil.

Vill.

(o)

Time: 2:40 hours

E“’P/ J=223 gt

VWrite short answers of any aight parts from the following: (8x2=16)

Enlist different methods for sep wration of Isotopes. i Whatis meant by internal energy?
Give the contribution of J.Berzeiivs tlowards chemistry. v, Dislinguish between diffusion and effusion of gases.
State Chale's law also write its nathematical formuia. — vi.  Enlist two characteristics of plasma.

Gtate Heisenberg's uncertainty drinciple and give s formula.  viil.  Define system with an example.
{efine Pauli's exclusion principlz. Give an example. % Whatis therho cheinistry?

Calculate the mass of electrons froin the value of charge and efm.

How molecular ions one generzied? Name methods of generation.
Write short answers of any «ight parts froni the feliow{g\
Define solution give an example //ii. Whag is
Define colfigative prepertieé of colutions. /

What are enzymes? Give an example. 4

State partition law. \ / viil,

How crystals can be decolo;;x\es ? \;
[iefine polymorphism. Gw an fxampie #i.
Yrite short answers any st partsfrom the foliowing: (6x2=12)
Write two points of V nce Shm\le{:tmn ir Repuision theor
Wh;fe ne pairs of electrons n aah{tom accu
Define bond order. Give one example. \ statement of Lechatlier's principle.
' hat is cormmon ion effect? Give two examples.
cesyl
ifrload storage ceil.
¢ “Cu” electrode but as eathode with *Zn’" electode,
SECTION-I
Attempt a%&es{t)ﬁ/ﬁach question carries equal marks: (Bx3=24)
Wi @ the.steps invelved for the determination of emphirical formula. 4
250 e of sample of hydroger effuses four times as rapidly as ar unknown gas. Calculate molar mass of i
unknown gas.
Explain following types of Inter Molecular forces at least with one example each:
(i) Dipole-Dipole fcrces (i} Dipole -Induced Dipole forces 242
F-xplain Born-Haber cycle in aeail: 4
Give four defects of Bohr's atoinic model 1x4=4
The solubility of P, F, at 25°¢ is 0.64 gdm™*. Calculate Ksp of P, £; (At mass of Py = 207, F =19) 4
Explain atomic orbital hybridizz tion with reference (o the structure of G, 1, and (3 H, 242
Write comprehensive note on i3ad accumulator with its discharging aric recharging [rocess. 242

Give three statements of Roult s law with equations.

How order of reaction is measured using half-life method and method of farge excess?
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